CHC 2DW: Unit Test #1- Canada at the Turn of the Century and the Outbreak of WWI 
NAME:                                                                                             K&U    / 15             T&I     /10       App    /9
SECTION I: Objective Questions (15 marks K&U)
MULTIPLE CHOICE:  please circle the letter that corresponds to the most correct answer to each question/statement.

1. The first four provinces to join Confederation were:

a. P.E.I., Nova Scotia, New Brunswick, Ontario

b. Quebec, Ontario, Nova Scotia, British Columbia, New Brunswick

c. Quebec, Ontario, Nova Scotia, New Brunswick
d. Ontario, Manitoba, Quebec, Nova Scotia

2. Surveyors for the CPR ran into resistance at the Red River settlement.  The resistance was led by this man who was fighting for these rights for his people:

a. Louis Riel, language, religious and land rights

b. Louis Riel, land rights

c. Louis Riel, treaty and religious rights

d. Poundmaker, treaty and cultural rights
3. To settle the issue of indigenous people living on the Prairies, the federal government forced different groups to sign:

a. The Indian Act

b. Numbered Treaties

c. Reserve agreements

d. School Acts

4. Which of the following statements WAS NOT true about the Indian Act:

a. It denied indigenous people the right to vote, own land, and practise their ceremonies
b. The federal government passed this Act without any consultation with the people it affected

c. It made status “Indians” the wards of the federal government

d. The federal government tricked indigenous people into signing the Act

5. Which of the following WAS NOT a problem faced by settlers on the Canadian prairies?

a. they had to live in sod houses

b. they were often lonely due to their farms being so far apart

c. they were sometimes discriminated against
d. they were returned to their homeland if they did not complete an English-language examination.

6. Which of the following IS NOT a reason why settlers came to the CanadianWest:

a. the government offered free land

b. due to overcrowding and extreme poverty in Europe

c. the offer of free money by the government to each family who immigrated
d. the chance to find jobs in Canadian cities.

7. Which statement best describes the social position of women in 1900?

a.
they were considered less important than men in every area of life


b.
they ran most businesses across Canada


c.
they were the main labour force in Canadian factories


d.
they lead a successful fight against the use of tobacco
8.
Why did Britain ask for Canada’s help in the Boer (South African) War?

a. it thought that Canada’s new immigrants would enjoy the adventure 

b. Canadians had experience in the mining of gold and diamonds

c. Canada was a part of the British Empire and was obligated to help the empire

d. Canada had a reputation for being excellent fighters while England did not.
9. What statement best describes the position of the French Canadian nationalists during the Boer War:

a. They supported Laurier’s efforts to pay for 100 troops

b. They supported the British request for additional troops

c. They resented any efforts to help the British because French Canadians felt common cause with the Dutch Boers

d. They wanted to pay for all 7000 volunteers
10. What special skills did the Canadian government want its Western immigrants to have around 1900?

a. Fishing


c. logging and lumber-jacking

b. skilled labour

d. farming
11. The Continuous Passage Act was used by the federal government to deny the entry of which group:

a. Sikhs from the British colony of India

b. The families of the Chinese who were recruited to work on the railway

c. Black immigrants from Africa
d. Jewish immigrants from Russia
12. What would the Reciprocity (free trade) Agreement have done if it had been adopted in 1911?
a. establish free trade between Canada and Great Britain

b. establish free trade with Europe

c. establish free trade between all of Canada’s provinces

d. establish free trade between Canada and the United States

13. Which statement best describes why farmers supported reciprocity (free trade) in the election of 1911:

a. they wanted to protect Canada’s infant manufacturing industry

b. they wanted to buy cheaper American manufactured goods 

c. they wanted to force urban centres to buy their grain/wheat

d. they supported high tariffs and wanted to keep them high

14. Unions were formed at the turn of the century due

a. poor wages

b. dangerous working conditions

c. unreasonable work hours

d. all of the above.
15. Why was Wilfred Laurier’s “Naval Policy” a failure?

a. Britain refused to accept money from Canada to help it build dreadnoughts

b. It was a compromise solution that pleased no one.

c. It created a Canadian navy which was too large and unwieldy

d. It made Canada reliant upon the American naval forces for training and protection.
Section II: Definitions—Please pick ANY TWO of the following terms and, on the foolscap provided, please DEFINE the term and explain the HISTORICAL SIGNIFICANCE (IMPORTANCE) of the term to the time period in which it occurred. You must pick at least one term from each column. 
2 x 5 = 10 marks Thinking—3 marks definition + 2 marks for historical significance


Column One




Column Two
	Head Tax
	Black Hand

	Urbanization
	Militarism

	Manitoba Schools Act
	Imperialism (as a cause of war)

	Eastern Europeans
	Schlieffen Plan


Part C- Map Identification:                                                                       9 Marks Application

1. Shade in the three countries that belonged to the Triple Entente in 1914. 

2.  Identify the country that changed sides from the Triple Alliance to the Triple Entente in 1915.

Name of country:______________________.   Label this country on the map
3.  Identify the country that Germany first attacked in 1914 to draw England into the war.

Name of Country:______________________.  Label this country on the map.
4.  Identify the country where Franz Ferdinand was assassinated.

Name of Country:______________________.  Label the country on the map.
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